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This test is in fwo pars. Each part contains
o) guestions. All the questions are
compulsory. Each question carries 1 mark.
Every correct answer will he awarded one mark.
The answer sheets for Part-1 & Part-11 are
different. Remember you have 1o mark your
answers on related answer sheet.

Since the time allotied w the two parts of
this Question Paper is limited, you should
make the best use of it by not spending oo
much time on any one question.

Solve the Part-1 (Mental Ability) of the
Question Paper by 12,30 pm. and submit
Answer-sheet of Part-l 10 the Invigilator.
part-11 (Scholastic Ability) should be solved
in hetween 12.45 pm. 10 2.15 p.m. and submit
Answer sheet Part-11 1o the Invigilator,

The last page of this Question booklet s
meant for Rough work.

Method of marking Answer -

To answer a question, please darken one
bubble out of the given four, in the OMR
Answer Sheet against that guestion.

Use only Black / Blue Ball-point Fen to
mark the answcr.

Lge of any calculator, LOg pables or any
other electronic Gadgets, Mobile phones is
prohibited.

Valuation preceduore -

There are four aliernative answers o &
question, only one of them is correct.
One mark will be given for correct answer of
the guestion. 1f mare than one bubble are
darkened for a question. it will be presumed
that the candidate does not know the correct
answer, hence, no mark shall be awarded.
Handing over the Answcr Sheet to
Invigilator -

Please ensure that all eniries in the answer sheet
are filled up properly i.e., Namé, Roll No.,
Signature. (Question Booklet Nao., =te.

Care in Handling the answer sheet -
While using answer sheet adequate care
should be taken not 1o tear ar spoil due to
folds or wrinkles.

. Pleasc return the Answer-Sheet to the

invigilator after the test.
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PART -1 : MENTAL ABILITY

rEn - & owd A e g e ot
Uyt 1 & 2 =)

1 A, 7, 15,27, 43,71, 3

(A) 86 (B) 87

(Cy 89 (D) 90
2 7,28 49, 70, 91, 112,

(A) 135 (B) 134

(C) 133 (Dy 130

fotn = Frafaias sam o F § =% gwn @ i
7 Aol & wdfin Wk (w3 HS)

3 5, 10, 17, 24, 37

(A) 10 (B) 17
C) 37 () 24
4 AT, By 120325, e, 26;-52, 32
(A} 16 (B) 25
(C) 32 (D) 52
5 B9, 78, 86, BO, BS, B2, 83
(A) 78 (R) 82
(C}) B3 (D) 86

AN — Frafafas oo 7 o e o7 g o
(F97) | (99 6 F 9 T

t AFCX, FU, i
(B) IV

(A) TR
(Cy IO (D) KP
T YEB, WFD, UHG SKIL, .
(A} OL (By QGL
{C) TOL (D) DML
b C4X, FYl, 116K, ;
(A} K25P (B} L25P
() L2550 (¥ L27P
% a__ bk anb cea bbee
(A) bach {B) acha
(C) abba (D) caba
MN-2201

Dvirection :- Find the next number in each of the
given sequence of numbers. (Q. from 1 1o 2)

1 3, 7. 15, 27,43 63, .
{B) 87

(A) 86
(C) 89 (D) 90

2 7,28, 49,70, 91, 112, .
(A) 135 (B) 134
(C) 133 (D) 130

Direction :- Find the number from the following
sequence of given numbers which does not belong
I given sequence.

(Q. from 3 10 5)
k| 5,10, 17, 24, a7
(A) 10 (B) 17
(C) 37 (D) 24
ll 47 5-. ]n- 31 12. 25'- ]61 2'&& 5’2; 32
(A} 16 {B) 25
{C) 32 {13} 52
5 BO, 7B. 86, 80, 85, B2, 83
{A) T8 (B) 82
(C) B3 (D) &6

Direction :- Find the missing term in cach of the

following questions ; (), from 6 10 %)
[ AL CX. FU, :
(A) IR (B) IV
(Cy 1Q (D) KP
T YEB, WFD, UHG SKI, .
{A) QOL (B) QGL
{C) TOL (D) ONL
B C4X, FoU, 116R. .
{A) K2I5P (B) L25p
(C) 1250 (D) L27P
9 a_ bbe_ msb_ cea bbee
(Aybach (B) acba
(C) abba M caba
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#ifme | (wF 10 & 12)

(A) 19
(Cy 25

11

{A) 63
(C) 60

12
ah

3|8

9 4 25
5(18)16  81(26)64 64 @ 144
36 19 36

(B) 23
(D) 31

(B} 56

(D) 65

(o]

Wy Wl G

(A) 52
(C) 36

P = weitpEe i ergeT R e g @ ST o
36 9 W A A weE Ie s (R 13 8 16)

13 (A) Bright
(C) Bride

14 (A) Mango
(C) Mother

15  (A) Obscure
(C} Organ

16 (A) Elope
(Cy Effect

MN-22111

(B) &1
(D) 37

(B) Brick
() Bunty

(B} Master
(I} Many

(B) Objection
(D) Oath

(B} Envelope
(D) Entire

—

Direction :- Find the missing number (7} in each
of the following questions. (Q. from 10 o 12}

10
(A) 19
)y
11 qp
(A) 63
(Cy &0

9 4 18
2515 EIH M@l“
36 49 36

(B) 23
(D} 31

(B} 36
(D) 65

{A) 52
(C) 36

(B) Bl
(D) 37

Direction :- Arrange the given words in
alphabetical order and choose the word which
comes first, (. from 13 o 16)

13  (A) Bright
(C) Bride

14 (A) Mango
(C) Mother

15 ({A) Obscure
() Organ

16 (A) Elope
(C) Effect

(B) Brick
(D} Buniy

(B) Master
(D) Many

{(Ry Ohjection
(D) Oath

(B Envelope
(D) Entire
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F® (=) & ofed i it | oomes 7 & | W ey
qPrm 1 (9 17 & 20)

17wl oo oo 2 9
{A) T (B) 1=
() % (D) =iz

I8 BT 1 oy e
(A) We=Tard (B) =gy
(C) = (D) Fereeit

19 997 « aww = Twnder 9

(A) 7 {B) fe=x

(C) wow (D) =
20 25:135: 367

(A} 1RO (B 206

2y 26 I 318

fEn - Fretfirfern ol & =y & @ 79 s o
Wﬂ#?ﬁmmﬁﬂﬂmﬁla{uﬁzlﬂhh

21 {A) 1 {B) =g
() w= (D) afm
22 (A) wm (B =7
() z= (D) g
13  (A) v (B) wopf
(C} g% (D) Femmm
24 (A 770 (B 312
(C) 663 (1) 939

25 mFﬂmﬂRﬂEEdﬁmﬁhmwt
aﬂTEINnﬁH?qzﬁﬁmﬂmt.?ﬁRIt]Eﬂr
¥ wmn o Fer wmo

(A) 5274 By 5325
(L) 5376 (D) 5726
MN-2201

Direetion :- There is some relationship between
the words / numbers on the left hand side of sign
(22h and the similar relatiomship exists between
the two terms on the right hand side of sign ().
Find the missing term, {Q. from 17 in 20)

17 Radish : Root =2 Roge : 7

(A) Garden {B) Flower
{Cy Fruits (I Thorn
18 Army : Soldicr :: School : 7
(A} Principal (B) Peon
(C) Class (D) Student
19  Ocean : Pond :- Kilometer : 2
(A) River iB) Meter
(C) Second (D Vol
20 25:125::36:7
(A) 180 (B) 206
) 218 (o 318

Diirection :~ Choose the word which is least like
(different) from other words from the given group
of words, (0. from 21 o 24)

21  {A) Nose {B) Heart
(C) Ear (D) Eve
[ 22 (A) Bus (B) Car
{C) Train (D) Transport
23 (A) Bhopal (B) Panaji
(C} Pune (D} Shillong
4 (A TTO (B 312
(C) 663 (D) 939

25  In a certsin code language ROBE is written
as 5136 and BIND is written s 1792, How
is RIDE written in that code language 7
(A) 5276 (B) 5328
(C) 5376 (D) 5726
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fgar = it e ) vE A ugd afiT ol Direction :- Read the following information

i el AT e | (gg 26 @ 30 wE)

mmnhuﬁrﬁﬁmﬂ.ﬁ.ﬂin,ﬁm
¥ aa-a T ¥ |B-fsriatqrc.3aﬁrq'raﬂ
L AdrCchamom I ECEE Y IDA
Aight  EBmmwik)

26 freme i g W o s B E 7

(A) 4 (B) 3

() 2 (1
17 BHRAHEAE 7

(A) D {B) F

(C) E (D) A
M CABEmTAE 7

(A) T (B) ®

(Cy &= (D) =
g ErR TR ERE F

(A) F

(B) A

{C) B

{D‘}lm'liﬂmaﬂ

30 P @ @ @ @ wn A E
(A) A, E (B) A. D
() DL F (D) B, D

3l mqihmﬂaﬁaﬂmmwhwﬁwﬂm‘n
4 e o & | T wrivE ferfa & Feer® 0

g i ¥
(A) 2 Flt (B) 4 T
(C) 5 T (D) & fandt
32 ﬁﬁﬂﬁrﬂﬁaﬁamﬁmﬁuﬂrﬁﬁﬁ:
(1) 29 {2 "=
{3y w7 (4) T
(5) =%

(A} (5), (4), (3), (2} (1)
(B} (1), (4} (22, (3 (5}
(C) (5, (3) (4 (2 (D)
(D) (5% (2% (3) (4% i1}

MN-2201

carefully and answer the given questions.
(. from 26 10 3

All the six members of a family A, B.C, D
E and F are living together. B is the son of C but
Cis uutmemnth:rufﬁ.r’umdﬂmarrmﬂeﬁ
couple. E is the brother of C. T is the daughter of
A. F ia the brother of B.

26 How many male members are there in the

family 7

(A) 4 (A 3

Cy-2 Dy 1
27 Who is the mother of "B 1

Ay D (B) F

() E Dy A
3§ How many children does ‘A" have 7

iA) One (B) Two

(C) Thres (13 Four
26  Whao is the wile of “E* ¢

(A) F

By A

(Cy B

(D) Con't be determined

4 Which of the following is a pair of fermales?
(A) A, E (By A. DD
(C) D.F (o B, D

31 Shyam travels 3 km in the Fast, then he
rurms o South and moves 4 km. How far is
he from the starting point ?

{A) 2 km (B) 4 km
(C) 5 km (D) B km

32 Arrange the words given below in
appropriate order :

i1} Country (2) Street
{3) City (4) State
(5) Home

(A} (3). (4) (3 (2 (1)
(B) (1) (4 (2 (3N 3)
(€ (51, (32 (4, (2D (1)
(D) (5% (2), (3). 14) (1)
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TH 6 oy, ]'WEﬁmmrmﬁHHm i3 RamwnEMmuaMﬂrdiﬁ.f‘E'lTJ‘mt}tﬂl
feer TFATT W v Wy | T A fay Independence Day was celebrated on Friday,
; Ram was bom on -
(A) uam (B) we=m fg; ;’:]Fin;sda}' :g; -i::drif:rd}
(C) sprare (D) ham
i 34 Which of the following words cannot
e DISSEMINATION G aw A Ll be formed with  the letters in
W= T W w2 DISSEMINATION
(A} INDIA (B) NATION (A) INDIA (B) NATION
{C) MENTION (N ACTION (C) MENTION (D) ACTION
a5 tﬁwihﬁﬂw'ﬂﬂﬂ:iﬂmmtﬁh s ‘l‘f']mnsaenﬂu-nughamirmnmcclmi:ﬂmws
Wi wmy & 8:30. The exact time s -
(A) 2:30 (B) 3:30 (A) 2:30 (B} 3:30
(C) 5:30 {3} R:30 (C) 5:30 (D} 8:30
36 ﬂmﬁhﬂ#ﬂma‘m : s Finkuulﬂmuddpairnut:
(A) 1 — Fwrw i (A) Army - Genera
(B} Bank - Manager
(B) &% — dby x o P
el Gl (C) Collepe - Principal
(C) =it - Riftram (D} Post Office - Pestman
(D) Shzafem - ity
37 Find out the mber of s in the giv
poe ﬁ!‘ﬁ'ﬁf&'ﬁi‘ﬁﬁﬂmm | I_| l.'.ru ni U Squares in the given
1
| 1]
=
(A} IS (B} 30 (A) 15 (B) 30
(C) 26 (D) 19 iC) 26 Dy 19
Direction :- Oy of nine cells of » Muare one cefl
o - o & Wl ¥ 2 v i left blank and in the rest of cells numberg o
¥ sy e e el 7 ¥ ah sl Fafie written which follow some rules. Get the rule and
T Fn k|3 e ) W & @ (7 | find out the proper aption for the blank cell 12y,
hhﬁmmw:mﬂiﬂi (Q. from 38 10 40)
B [§TsT5: B I'sTe 35
645 614 (15
i e 715 2
(A) 24 (B) 15 (A) 24 (B) 35
(C) 12 (D) 37 (C) 12 I 37
MN-2201 7



¥
et Il
Ay T (B) 9
(C) 8 (D} &
40 B 21
1] 25
12 7
(A) 24 (By 22
(C) 20 {19
fin - R T Tt @ e —E R

J

(A) @ O (B)
g (D)

)

39 1|6
51 8
"SR E
(Aa) 7 By ¥
- (C) 8 (D) 6
f0, [8]3[2
] |65 [23
TAE RS
(A) 24 (B)y 22
{(0) 20 (D) 19
I:'I!‘!Ill;e:tinu =~ The diagrams showing the
eimionship among the words in the question.
Choose the correct option as. per the given
relationship. (). from 41 t0 45)

(L
O

Sun, Moon, Sturs
Teacher, Graduate, Player
Table, Chair. Fumiture
vk, Zebra, Bear

(virl, Athlete, Singer

Arrange the words given below in a

meaningful sequence

(1) Poveiry |':1} Population
{3} Death (4) Unemployment
i5) Disease

(A} (20 @, (1), (5). 63
(B) (2), (4 (3 1) (3)
() (1 (2) (4 (5) 13)
(DY (2), (1) (4 (B) (51

41 g, T, @ [
g2 Fres, v, T b5
| 41
43 i, g, el
| 43
44 T, S, W | 44
45 WES, U, TOH 4&
| e
AR R g we W edph A R SRR | g6,
i )
{1} wiE (L) T .
(3) 99 (4y oy v
5) drly
(A (23, (d) (1) {33, (3}
(B} (2), (), (5), (1) 3}
(C) (1), (23, (4), (5), (3
(D) (23, (1) () (3) (3)
MMN-2201
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Fay »ftﬁn&mﬁwﬂr#mnnmnﬁm | Direction :- Choose the correct mirror-image of
wiiaer g | ey 47 49 | the figure (X) from the four allernatives piven_
| {Q. from 47 1o 49

o @ N j

:__|'-| r;{
'[B’ @ || (A) @
@ . () ®| (D)

S

e

(B)

[
®

—

(B} g
15

X Ry : ] R
m@\ () @ © EE

MN-2201 9

® LE_L @ E | @)
() TE’ (D) “_S_ '.

—

iB)

(D)




(e i afr mTermT ST A
31.7% |mmmmmmmm
] |ﬁﬂmﬂ‘iﬁmﬂuﬁmt—

(A 500 (R) 700

(C) 900 () 1100

50

Hﬂ:—ﬁmhfﬁﬁtnﬁmﬁ (g 51-52)

s 1 3 L T 7
byt o
(C) lg (D) -ET
(A) J—} B 3
(< % D 3

53 g‘-El"!i'MT:'.’}!flw‘ﬂaﬁ'rFﬂﬁ |

%
2

Ay 117
Cy 27

(B 130
(D) 104

e,

50 mrﬂinnfmeg'trlstnbnyﬁinas:hml is
1.7, The number of boys is more by 400
than that of the girls. The number of boys in

the school is -
{A) 500 (B} 700
(C) 900 (D) 1100

Direction - Select the correct answer for the
following : (Q. 81-52)

54 ﬁt%ﬁ-znﬂﬂﬁﬁﬁﬂwnm

mrﬂﬂﬁrﬂmﬂﬂtmﬂﬂmw

Emnrﬂni:ﬁlaﬂmﬂ}ﬁtﬂﬂﬂh
Wﬂwmﬂﬂﬂmaﬁmﬂm:
(A) 11.4 (B) 22.5

(C) 28.5 (D) 30

MN-2201

Pl 00 1ok
51 -I # 3 L] 51- Lk 9 L I.]
(A) < &
i (B) 7
1 1
(C) 3 (13 '-I|T
> & x5 2
5: 5!- 4' ” 11 1
4 4
(A) I B 5
5 3
© 3 2 3
53 Find the missing number (7).
— 3
(A) 117 (B) 130
(C) 27 (D) 104
54 In a T-20 cricket match, the avernge of the
runs scored by 2 players is 21 and the
| average of the runs scored by other 3 players
| i 36. The average of the runs scored by
these five players will be
(A) 11.4 By 22.5
{(C) 28.5 Dy 30
10
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55 qamwhﬂ!mmtm-ii ﬂmﬁlﬁtllﬂ.!

uhlﬁzrﬂlﬁrtrm#rﬂuﬁt' |

(A} 10.5 sz (B) 11.25 wrer

(C) 12.8 oy (D} 15.0 ey ||
56 wﬁrs:maazmuxa?—-smssr 13 |

L o 48 | 56

(A) 24 (B) 34 |

(C) 38 (D) 43

Amp:isurw—wrﬂglﬂm.-;?-mnisrndand

the remaining 3 metres is vellow. The length
of the rope iy -
(A) 105 metres
{C) 12.8 metres

(B) 11.25 metres
(D) 15.0 metres

If 18 = 16=139 and 42 x 37 =133, then
a3 = |3 is equal to -

Foler - gy 5 5T a ﬁnﬁﬁ“rﬁﬁhﬁﬁﬂﬂ I}Iireﬂiunzaﬂ.h{u-ﬁ'?’mﬁl]ur:hﬂsﬂdﬂnﬂw

mfmtlﬁﬁﬁﬁMiﬂﬂtﬂﬁiﬁ:
(d)
’Aﬂh iy |
S e

57 mmmwﬁaﬂ%mmwﬁrﬁmhﬂ |57
b5 A g b ||
(B} ¢

(A} b
(©) f (D) g ||
58 mmmﬁmﬁaﬂﬂtmmﬁﬁhm|ﬂ
m!‘.ﬂﬁﬁdﬁmmtﬁaiﬁm |
T |

(A) g (B) e
{E}E‘ {D?h |
59 29 W ooy = ﬂiaqsmr?ﬁlﬁﬁwlﬂ
Wtﬁlﬁﬂﬂifﬁﬂhﬁ%mml
T e ko |
{A) a (B) b |
(€ ¢ (D) d |
60 @9 W oy o iihqaﬁrﬂﬁ'lﬁha|lm
wT ko e hﬂma#riaﬁ!m|
T T e ¥ ; |
(A) b (B) ¢
(C) d (D) ||
MN-2201 11

Foothal)

Which leser represents the set of persons
who play all the three games 7

(A) b {B) ¢

(C) r D) g

Which leter represents the set of

who play bockey and football bur not
badminton »

(A) g
e

(B) e
(D) b

Which leter represents the set of persons
who play hockey but nejther badminton nor
footbal] 2

(#A) &
(C) g

(B) b
D) d

footbal]
(A} b B} ¢
) d (x f
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§1 oz CROW £ EUSB % ¥0 Fereay e I| 61 1f CROW is wiitten as EUSE, then DOVE

# DOVE ® Fen AR - may be writlen as ;
(A) FZIR (B} FRZ) | (A FEIR (LY FRZ
(©) JRFZ ) ZIFR | (C) JRFZ (1) ZIFR

62 In a class of 46 srudents. Kumaldeep’s
62 e Rt @ w0 A wwwar & W | aumber is 12. His pumber from the botiom

mﬁ‘fhﬂﬂ%mmm: will be :
EA.':I 33 {83 34 (A0 33 (B} 34
(C) 35 (D) ¥ | (C) 35 (D) 36
ﬂ qﬁ '.Eﬁ"-\::: w _h m iﬂmﬂﬁ}ﬂlﬂ a | ﬁJ ]“ E.ﬂi'['l-ﬂl: lﬁﬂg“ﬂ'b«lﬂl"ﬁl“ﬂn l.m1m|].ﬂ1-ﬂ'l1. !'i-.lﬂ.
lavers will play only once against cach
mmmm@mw’cwa R P ga
; other. The number 0 matches played in the
ﬂﬂﬁluﬁ!dlmﬁﬂiﬁﬁﬂﬂﬂﬂ- || l.l:lu.l'l'lﬂl'l'l":n'li"-‘-'i.“bl.".
{A) 15 (B) 18 | (AY 15 (By 1%
(C)y 24 (D 36 | (C) 24 () 36

64 qﬁﬁm—ﬂﬂqﬁlﬂrﬁm,ﬁﬂﬁﬂ.~ﬁ4 Aclmkau-lhﬂuuctnt!{]'ﬂuck.mﬁmnt

ﬁﬁ3ﬂm'ﬂlmmt|ﬂ[}‘w | ’.!ﬂ'fh}r:k.ﬂﬁccatiﬂ'uin-:kunl.‘.s-:n:rrl.ln
H =l 24 hours it will ke :
(A) 144 T B) 156 A | (A) 144 times (B) 156 times

(C) 288 WR ) 300 WM ﬂ () 288 times (D) 300 tmes

| s if ABC = sky is blus, BD = blue colows &7

65 ﬂﬁhﬂﬂ=mﬂﬁ1t.ﬁﬂ=ﬁMTﬂaﬂT | DEC = colour is good, then good denotes

DEC=tHwt.rhmaﬂ1ﬁ5ﬂﬂm: | letter

(A) E (B D | (A) E (B) D

{C) A (D) C | {C1 A (¢

I
| 66  How many parallelograms are there in the

66 Tt P fers & T BT i ¥ following given fgure 7

o |~

(A) 15 (B) 16 (A) 15 (By 16
(18 (D) 20 | (C) 18 (D) 20

MN-2201 1.1



67 mmhgm.wﬁmmmﬁwﬁwﬂ

Direction :- Ip the given figure, the circle
FEPresents young persans. The triangle represents

L =

(A) 6 (A) 5 | (A) & (B) 5
(C) 4 ) 3 C) 4 (D} 3
68 ﬂhﬂrﬂaﬁ?ﬂmmﬂmwﬁm 68 “’hmhmg:mmmmmmmlﬂ:md
b7 and young persons 7
(A) 2 (B} 3 (A) 2 (B) 3
Q) 4 (D) 5 (Ch 4 (D) 5
69 ﬂﬁmﬂﬂﬁﬁﬁ.gmmi‘mm%ﬁw /ﬂ Which region represents Young, educated
wferrfier g & and unemployved persons ?
(A) 7 B 4 (A) 7 (B) 4
) 1 (D) 5 {Cy 1 (D) 5
[ . kUL G g T — el | 70 Which region Fepresents young, uneducated
W Toim & 2 nd unemploved persons 2
(A) 1 (B) 2 | (A} 1 (B) 2
) 6 (D) 3 / (C) 6 (D) 3
ﬁnhﬁﬁwwﬁﬂ%hmma.lﬁ Direction ;- mmthl:giw.nﬁgures,nn:ﬁgumi:

T @i (g 7y # 75 mm)

| different from the other, choose it

| (Q. from 71 1o %)
(A = 1 / (A Lo
el T |8
() i ] E———— / (C) o e
B G | ] E
MN-2201 13
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(1)
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I
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81 aﬁm.ﬁmﬁﬂmqﬁm

(B)
i @

(B)

(B

(€ E (D) @

- TR

) -

3
5 m . E
(1C) (D)
A man is walking at 16 metres Pet gecond
from point A 10 B, takes 10 seconds longeT

on the gemi-cireular path than the syraight
line. The diameter is abowul

VY

(A} 35 metres (By 140 mgires
(Cy 280 miehres (D} 70 metres

South is related 10 sjorth-West, in the same
way West will he related w whom 7

(A Morth-Fast (B Fast

() South-West i) South

If 1234 18 coded as BADRC, then spTR will
be coded as °

(A) EFGH (8) DGF

() FEHG (I FGHIL



(C) 48 o

(C)

MN-22m

Directiog 3=
there, is S0fme

of food of each 7
(B) Rs. 10
(D} Rs. 30

In each of the Fﬂliuwing EXamp|es,
relal:'unship betgwean 4 ind B, The

mu;re!n::‘nmhr‘p £xists between figure C ang four

aliernatives,

(Q. from 86 1, 90
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PART —II : SCHOLASTIC ABILITY
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SCIENCE
1 ﬂtqﬁﬂm#sammwalmﬁhmmgﬁn 1 Thnafﬂydhdcehamdnnhmiugeﬂ‘mmr‘
L 7o & electric current is called -
{A) =dy (B) forgs wqm (A) Banery (B) Fuse
(C) o (D) e & (C) Positive (D) Electric cell
2 hhﬁmmmmwtmﬂr ¥ Th:pmasufmfwufhmuﬂhumm:f
wEd F - medium is called -
(A} A (B} = (A) Thermometer (B) Conduction
(C) faf (D) o9 F &t oy (C) Radiation (D) None of these
3 ﬂﬂﬁﬂmmmmﬂmﬁr 3 Th:nﬂmeuf‘theplanlwhi:hrmkesilsdi:t
L by carching insects,
(A} arraw (A) Amar bel
(B) 7mwm (B) Hibiscus
(C) wewolf (frere raw) (€ Pitcher plant
(D) 77 (D) Rose
4 il fes g Hildrwr & g sy | 4 Haemoglobin is found in which kind of
t 7 cells 7
(A) 57 19 3 (A} White Blood Cells
(B). 7, 79 (B) Red Biood Cells
i {C) Arteries
Vi (D) Sah
(D) wreer v
-] A plant ism that i
5 mmmﬂmﬁmﬂﬂt— uulll;d-m' SRR o i
(A) Tam (B) =9 17 &= wgm (A) Rose (B Puogits
(C) g (1Y) #Tvw (C) Potato (D} Ginger
i ﬁiﬁﬂfﬂfﬁﬂrﬂﬂﬁmﬁﬂrm'ﬂﬁ;ﬂ 6 'Iheimagclmir:hnmnulbenhiamed' on the
wEe & screen is called -

(A) smard uftfars  (B) wder wfvfemy (A) Virwal image (B) Mirror image
(C) v wivfir Dy artaE Wil | (C) Plane image (D) Real image

MN-2201 19



10

n

12

nhhﬂﬂﬁﬁﬂfﬂﬁmﬂm
k. aee k-
{A) sregTTed
(C) 8%

(B) =T
(D) Fafear

mmt&ﬁmﬁﬁhﬁmuﬁ{aﬁ
Hﬁﬁmﬁﬁﬁﬁﬁﬁtﬂﬂﬁt?
Mln‘ﬁfmﬂaﬁ:w#
qs}u‘n‘lamm‘fiiaamﬂ

(C) ms T BN W

(D) S g @ g0 E

mnﬁﬂﬁqﬂ'&mﬂmﬁﬁtﬁqﬁm
mﬁiﬁhﬂrqﬂiﬁﬁﬂﬂlﬂﬁrhﬂu
w ¥, TH W o w6d ¥

mﬁmﬁﬂﬁﬂﬁ%ﬁih&m
mﬂﬂm#;ﬁ__ﬂﬁtn

(A) S

(B T

(C) dem T

(D) =

mﬁnﬁrmﬂimhmﬁmﬁl

e

iﬂ-iﬂﬁmmﬁ'ﬁﬂwﬂmﬂﬁiﬂiﬁh

tmu;m:rriﬁﬁmmmniﬁmir
= ¥ :

[t]mmmﬁmmﬂmaﬁﬂaﬂ
¥

tmﬂmﬁﬁﬁrmmmﬁhﬂﬁ
o ¥

wuﬂnmﬂﬁﬂnhmi’mt—
(A) BE

(B) Fad-w

() @ T

{D}hﬂiﬂmﬁﬁ

MN-2201

10

1

-

Fhemainwiﬁ:hmimalsar:pmtmadm
their namral habitat is called -
(A) Sanctuary {B) Park
{C) Ciry (D) Zoo

{A) With the speed of both the objects.
(B) The size of both the objects.

(Cy The distance of one object

(D) The distance of both the objects.

When one object slides on another object, a
force is produced which opposes the relative
motion between two surfaces. This force is
called -

{A) Friction Force

(B) Gravitational Force

(C) Muscular Force

{13} Electrostatic Fores

The number of vibrations made by &
vibtrating object in one second is called —
{A) Frequency

(B Amplitude

{(C) Oscillation speed

([ Sound

When a glass rod is nubbed with a sik cloth
then —
{A) Rod and cloth both acquire positive

charge.

(B) Rod positively and cloth negatively
€ .

(C} Rod and cloth both acquire negative

charge.
(D) Rod negatively and cloth positively
charged.

Angle of incidence 13 equal to angle of
reflection -

(A) Always

(B) Some times

(C) Mever

(D) In special CIFCUMSTANCES
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(D) Pt sy & g
14 hmﬁmﬁtﬂwﬁmﬁm |
ik
(A) o5 g (B) mrerem amf |
() (D) s et |
15 @umﬁm-ﬂnmﬁﬁmﬂwﬁmtmmﬁ
W wE k-
(A) am (B) w5s
(C} ey (D) werd
16 nﬁﬁmmﬁmt—
(A} BT ot ey
(B) mimis |
(C) o wwdy
(D) Ty
17 d=rdim i w gog e &
{A) T oot (B} =ftH
(C) T (1) =i oy
18 mgmﬁﬁrmﬁrﬂamﬁﬁﬁﬁmw|
ﬁr__ﬂhammﬁﬂrrmtl
(A) Pk (B) omré
(C) ¥ #5 gy (D) wms |
19 ﬁﬁmﬂﬁﬂ“ﬁﬁﬁfﬂﬂﬁaﬁmm ||
™t -
(A) TEZF Rarfrsre
(B} =iy
(C) Frmes
(1) T |
MN-220n1 21

ﬂr#hmqnm{ﬂ’tmﬂﬁﬁwzﬁ‘rﬂﬁmﬁal
Fo & aaife -
rﬂaﬁjnrﬂﬂﬂﬂﬁmm“iimm
(B) B amdsr & o

{C) B e a7 sl 5 B |

13

14

16

1T

A charged ballopn

balloon because g -

(A) due to game tharge on both the
balloons,

{B) due o opposite charpe,

(C) no charge on both the halloons,

(D) due 1o static charge.

repels another charged

What is the reason for corrosion of marble
in monuments 7
(A} Pure Ajr
(C) Water

(B) Rain
(D3} Acid Rain

Some unwanted and naturally growing plants
with crops are called -

(A) Crops {B) Fertilizer

(C) Weed (12) Harvesting

Which of the following is a carrier of miluria
parasite 7

(A) Female Anopheles Mosguito

(B} Cockroach

(C) Housefly

(DY} Butterfly

The main cause of communicable diseases
B

(A} Dragon fly
(C) Spider

By Ant
(I3} Housefly

Alter harvesting the Fipe erop, the seeds and
erains are separated by which machine 7
(A) Weeding (B) Tillage

() By drip system (D) Combine

Name the process of converting Sugar intg
Alcoho] -

(A} Nitrogen Fixation

(B) Molding

{C) Fermentation

(D) Infection



20 ﬂ;ﬁﬁm'ﬁiﬂlﬂﬂmﬂﬁﬂﬁﬂﬂﬁﬁ | 20
ﬂﬂiﬁ!maﬂﬁﬁhtﬁt.ﬁmﬂ |
E_

(A) W (B) Fmar] |
(C) T (D) wirife |

21 s 8- R e e e S e
fagay w1 wwa & 7
(&) SRR {(B) FNETA |
(C) WEHT () fitw |

2w & s 6T g |
¥
(A) T (B) =7ht |
(C) wni (D) .23

23 wqﬂﬂﬁtﬁﬂrﬁmwﬂuﬂﬂqﬁaﬁﬂﬁ|
w5 ¥ |
(A) AT T (B} AT |
(Cy ‘ToTETH (D) Hqs 5

24 mtﬁﬂmnﬂﬁﬁmmmmﬁﬁlm|
k7 |
(A) Tame |
(B) Fosin Sy
(C) Fon |
(D) Tt FEIAH I

25

25 wtmmﬁw.mﬁmw|
way 7 |
(A) TEHT |
(B} EEEmE
(C) wFA A |
(D) WFET SIS |

26

26 i (2Mg) + S (O] 3 AR |
ﬂlﬁﬁlﬂﬁﬁﬁmﬂﬁiﬁﬂt - |
(A) Mgl, (B) MgO
(C) Mg0, (0) 2MgO |

37  few ww w1 T fﬂﬁimrﬂu‘m:ﬁwmm‘l |
- wih & g b ? | 27
(A) T (B T |
{C) &Y D) ST |

MN-2201 22

[

Drugs that kill or inhibit the growth of
Jiscase-causing micro OTgaNisms are called-
(A) Yeast (B) Bacteria

(C) Virus (D) Antibiotic

Which of the following can be beaten into
a thin sheet 7

(A) Oxygen {B) Phosphorus

(C) Sulphur (D) Zinc

Metals react with acids to form which gas 7
(A) Hydrogen (B) Sulphur

(C) Carbon (1) Mitrogen

The conversion of dead vegetation into coal
by the slow process iz called -

(A} Carbonization (B) Evaporation

(Cy Pollution (D Contaminant

Which unit represents the calorific value of
a fuel ?

(A} kilogram

(B) kilo Calorie/gram

(C) Heat

i kile Joule/gram

Which toxic gas is mainly produced by
imcomplete combustion of coal 7

(A} Sulphur

(B} Hydrogen

(C) Carbon monoxide

(D) Sulphur dioxide

Magnesium (2Mg) + Oxvygen (O3} —
Choose the comect option to balance the
ghove equation -
[ M'E.U1
() Mgz0s

(B) MgO
() IMgO

Which metal foil is used 1o wrap food items 7
(A} lron (B} Aluminium
(1) Copper ([ Caleum



-

18 m#m#mqﬂmm
T
(A) iR iB) %%
(C) & (D} wridre
29 ﬁwﬁﬂrﬁwmfhﬂqm&:m
A wvie Iy b 7
(A) 7 ot and
(B) #tam aromr—smefies ot
(C) = oy o
(D) 7§ g
30 ﬁqiﬁhﬁﬁmmmmt?
(A) Tms (B) &=
(C) wwh (D) == =if v gren
3w dted & e et 3w moaw
= JaTETY ¥ -
(A} To= &9
(B) grrdig wa
(C) sk a7
(D) Y3 wm
3z mﬁhmﬂMﬁﬂM?
(A) = (B) wan
(C) Fraim (D) =
33 ﬁmﬂﬁ‘gﬁmﬁnrm'mwram'
aea ¥ 7
(A) 5% (B) wq
(C) wm (D) yemiy
34 P d o ow A b
(A) ®rr (B) wnfizs
(C) weh aamr (D) wa
as mﬁm#mﬁaﬁmﬂ’rht—
(C) S0, (D) Co,
MMN-2201
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31

The smallest structural self functional unit

of body is -
[A) Golgi body {B) Tissue
{C) Organ (D) Cell

Which one of the following best describes
the tropical region 7
(A} Hot and Humid
(B) Moderate temperature - Extreme rainfall
(C) Cold and Humid

(D)) Hot and Dry

Wool is not obtained from which of the
following 7

{A) Yak (B) Camel

(C) Goat (D) Thick haired dog

The force exerted by the archer to pull the
bow is an example of -

(A) Graviuational Foree

{B) Magnetic Force

(C) Non-contact Force

(D} Muscular Force

Sound cannot travel through -

(A) Water (B) Air

(C) Vaccum (I3 Iron

Which planet is called ‘moming star” or
‘evening star'?

{A) Venus (B} Mercury

{C) Mars (D) Jupiter

Which is non-biodegradable?

(A) Paper (B) Plastic

(C) Cotton cloth (DY Wood
]

Gas used in fire extinguishers is -

(A) HaS (B) NO,

(C) SO, (D) €O,



36

aieEn 12 : MN-2201-[C

I EE S ERIE
_SOCIAL SCIENCE

St 3 i o s g e | 36

w7 ~
(A) e (B) w10
(C) s (D) s

&1 1813 §. & fm— o vy fem w37
(A) WET TR

(C) TrgifEn oE —
(D) fofm sfm o~ O
-
38 ﬂlﬂi?i.%ﬁaﬂmﬁmﬂﬂ:ﬁﬂfﬂfﬂﬂﬂﬂ 18
By W WA T (N
(A) T Fedrg
(B = 2
{(C) =W 9k WHT
fﬂ'l-mqm -y
L= ?‘9
3w T AW S T e ay
(A) T T A =
(B} v frdwr A e
1(‘3%?&%% Lt
(D) T T e 3
40 lmiﬂmwmﬂrm'ﬂh "
=l Fyatia fow wm @ T |
(A) s (B) Hae
(Cy == () e |
s | 41
41 s A 1907 & F T e e wee i
(A) dmh i wEn \N
(B) w0 ETEETE
(C) drmdh T AE
(D3} e werEE O
MN-2201 24

Which of the following trading companies
did pot come to India ?

{A) Portuguese (B) Duich

(C) French {D}) American

Which Act was passed in 1813 7
{A) Charter Act

(B} Pitts India Act

(€) Regulating Act

(D) Civil Service Act

Whao did not join 1857 struggle ?
{A) Rani Laxmi Bai

{B) Tatya Tope

(") Behoadur Shah Zator

(D) Dileep Singh

Who composed the song *Vande Matram™?
(A) Rabindrunath [ hakur

(B} Swami Vivekanand

("} Bankimchandra Chattopadhyay

([ Swami Dayanand Sarnswati

Where was Bal Gangadhar Tilak exiled n
1908 7

{A)} Sri Lanka
(C) DBurma

By Chinn
([} Japan

Who hoisted Indian flag in 1907 in
Crermany 7

A} Mrs. Bhikaji Camma

{B) Lala Hardayal

() Mrs. Annic Besant

(D} Lala Lajpat Rai



—_—

AT I et & YT s Az | 42 Who was [t Covernor of Punjab duripg

42
AT W g
(A) # Zoir
(B) st aw=
{C) 7w o, wmgy
(D) &, =TT
43 m#wmmﬂuﬁt#mm
= TE T
fA) 1700 % & (B) 1813 ¢ #
(C) 1793 € & (D) 1716 . &
44 Wmﬂﬁﬂmmﬂa'ﬂrmm
CA
(A) o smm w3
(B) i 3
(C) qovm vwam &
(D) &t for qear o= §
45 mmmmﬁmmﬁmﬂﬁ
WEISE e Ty
(A) T {B) fish
(C) a (D) o
46 'm#nmwﬁmmﬁmrimﬁaﬁﬂm
M W% e mw §
(A) wmyrg T35
(B) zmmrd
ﬂ?hn’mammmﬁ‘ma
() w2 Wi
47 mmmmmmﬂnthﬁnﬁﬂ
o o
(A) w=TTT=YT (B) ==wm
(C) Tradm (D) o=
48 mtmmﬂmmmm
B
(A) sitemr=m (B) #oEmy weem
(C) mreerooasy (D) wmves
MN-22m

43

44

45

46

47

Jallianwals Bagh Massacre?
(A) Lord Dalhousie
(B) Lard Macauluy
(C) Geperal R, Dyer
(D) (CPyer
[~
The b@ﬁ:rn the import of Indian clothes Wis

slappedby an Ace in England in
(A) 1700 AD. (B) 1813 AD.
(C) 1793 AD. (D) 1716 AD.

Who faunded the ‘Mohammedan Angla
Oriental college” 2

(A} Nawab Abdul Latif

(B} Sharimmullah

{C) Mobmmad Ighal

(D) Sir Syed Ahmed Khan

In which language was newspaper published
by Raje-Rammaohan Roy?

(A) Bengali (B} Hindi
(C) Enlish (DY Urdu
[,

“kugffs my birth right and | must have
1" who Said this 7
(A} Vvomeshchandrg Banerjee
(B} Dadabhaj MNaoroji
(C) Lokmanva Pal Gangadhar Tilak
(D) Sasdar Bhaput Singh
=
In whith distriet of Madhys Pradesh,
Chandra™Shekhar Azad was bom?
(A) Alrjpur (B} Mandla
(C) Rai (D Panna

In which laver of the atmosphere. does
weather phenomenon take place?

(A} Troposphere  (B) Stratosphere

{C) Mesosphers (D) Chiterspace



49 mﬁmﬂwﬁﬁriwﬁiﬂlﬂﬁw
FEaTl k-
(A) A AT (B) o
(C) == FHL (D) =mieE T
50 qﬁaﬂmmimﬁﬁmmﬂ
gy 7
(A) W= W= (1) o =0
(C) we WY (D) i =
g1 o var s ¥
(A) Gert (B} gftfa &
(C) sl = (D) = ®
52 wmwﬁ‘hmhrirt?
(A) diem (By WA
(C) o= (D) s
53 B w0 A & 72 WE S R
gy sk v k7
(A) wed {B) ufree
(C) APaTER (D) Fagm
54 fhmm%mqmisﬁmﬂuﬁmaﬁﬂa
& =i wm e K
(A) =mEw (B) =
{Cy ™ (D) =
55 nﬁmﬂﬁﬂﬁmiﬂmﬂmﬂmﬂm
oA ¥ ?
{A) =wE (B) #ifeE
(C) T (D) wrige
56 i w=rmE b -
(A) feslt o (R) wifs= ¥
(C) gham % (D) ™= o
MN-2201
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1

52

54

The hot winds which blow during the
SUMMEr Season in MNorthern India is called -
{A) Sea breeze (B) Loo

(C) Land breeze (D) Trade winds

C}'clnniuminsmmeﬂunhw-m:mmn of
India occurs dunng -

(A) Summer season (B) Winter season
(C) Spring season (DY) Rupiny season
Spring tide occurs on -

{A) Fifth day (B} Full moon day
(C) 8 day (D) 4% day

Iny which country is the ‘Grand Trunk Road"?
{A) Sri Lanka {B) India
(C) China {3} Mongolia

By which process the materials of broken
rocks assemble at its original place”

{A) Weathering (B} Transportation
{C} Erosion (D) Deposition

For which crop the plains of prairies is called
the 'basket of bread’ 7

(A) Rice (B) Maize

(C) Wheat (D) Barley

Which is the lightest wood of South
America’
{A) Valsa
{C) Sinkona

(B} Hivia
(D) Hardwood

Balparizo harbour is in -
{(A) Chile (B) Brazil
{C) Surinam (D) Pera



A ot —— | 87

62

(%]

st T b -
(A) & tmr
(B) e
{C) =&t T
(D) AP e

urgftan fow o & e b
(A) i (B) 7=z
(C) o {D) o=

ﬁnwﬁkhﬁﬂqﬂmﬂmtﬁﬁzw
e W AT R

(A) ™8 WM #m semEm ww g

(B) 7% wm o Sfewifs & g

(C) s &l F8e =9 o

(D) ¥ afre amrr 38 o= o

ﬂﬁrﬂ'ﬁﬂ'ﬁ?ﬂrﬂnﬂmmﬂﬁrﬂﬂlﬁhﬂ
o ar & ¢
(A 14
(C) 22

(B) 18
(D) 26

P smlimon 0t amavas &7
{A}ﬁnﬂrﬁfﬁmﬁh
(B) 9@ & fr

(C) w7 a4 & firo

(D) wrsmoy srest & foo

"dmﬂmm,mtﬁmmmm
A e b

(A) sy e w5

(B) memn widd) wr

{C) 9. w=mreme A5% &

(D) & o =

Hhites st & st oy v & -

(A) T & =99 =7 i

(B) friw & wed-ed = aifrmry

{ﬁ}ﬁﬂMmgm’r&:tm‘fm‘lﬁ:ﬂwqﬂ
afmE B e @73 W afem

(D) s & wwT s

MN-2201
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63

The main latitude lins passing through the
middle of Australia continent is -

Lk lmeopic of o

(B} Equator

(C) Caprieom

() Greenwich line

From which metal aluminium is made?
(A) Copper (B} Bauxitc

{C) Mica D} Tin

Due to the meeting of which currents near

Newfoundland thick tog develops?

(A) Gulf Stream and Alaska Current
(B} Gulf Stream and California Current
(€} Gulf Stream and Labrador Current
(D) Labrador and Alaska Current

How many Indian languages hive been
mentioned in the Constitution?

(A) 14 (B) 18

{C) 22 (D) 26

Why is disarmanemst a must 2
LA) for the world peace

(B} for war

{C) for forming government
(I3 for atomic arms

Wha said “Democracy is the government of
the people, by the people and for the people™?
(A) Abraham Lincoln

(B} Mahatma Gandhi

() P Jawaharial Nehru

(1 Karl Marx

This has been incorporated in fundamental

rights -

{A) Right to settle abroad

(B) Right to travel abroad

(C) Free and mandatory education for the
children berween 6 to 14 Years nge

(D) To follow the Constitution



64 mﬂgmﬂmﬁﬂmifﬂut?
(A HEE W=
(B) =ETIE
{C) wfawy
(D) AT
65 ﬁqmmﬂmﬂmﬁtﬁ?
(A) 24 smgaT 1945
(B) 10 et 1945
(C) 1 = 1948
(D) 3 Tt 1950
66 T % p mEe @ wEn R -
(A) 230 (B) 230
(C) 545 (D) 552
67 Ty o wwww EE B
(A) 6l (B) 4 =4
() 10 3 (1) 5 =
68 TN OwwE & =gl @ e Ay
A ¥ -
(A) 65 =d {B) 62 T4
(C) 67 = (D) 60 =k
69 mﬂmmmmwmﬂ
wam m?
(A} 1993 (B) 1992
(Cy 1990 (D) 1997
7 ma why § W v fad k-
(A) v (B) Zow &
(C) siva # (D) =g ¥
MN-2201
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In which state Tarapur Atomic Plant is

{Ay Madhya Pradesh
(B) Maharashtra
{C) Tamil MNadu

{13} Karnataka

When was the UN established 7
{A) 24 October 1945

(B) 10 December 1945

{Cy 1 May 1948

(D) 3 December 1654

The maximum number of the members of
the Lok Sabha is -

[Ay 230
{(C) 545

By 230
(D) 552

The term of Vidhan Sabha is -
(A) b6 ycars (B 4 vears
(C) 10 years (I3} § years

The judges of the Supreme Court reIEAnS
in office till the age of -

{A) 65 years {(B) 67 years

(C) 67 years (D) 6 years

The National Human Rights Commission
was (ormed in the year -

(A) 1993 (B 19592
(£) 1990 (D) 1997

The museum of man (Manav Sangrahalaya)
of M.P. is situated at -

(A) Indore (B} Ujjain
(') Bhopal {13} Jabalpur
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MATHEMATICS
5
71 ofy -jE—*"=35’E B W 2p—7 ® derms | 71 IE'EE?E*":ES’E. then the numerical vajye
W W - of 2p—7 is - :
19 5 i3 - .~
M5 T Wa 19
~13 -13 r
() -1_9- Dy 0 (C) o (D)
] | b S :.*+—t-—'."i' then [:-:«LAJ—
T2 ﬂﬂ‘.r2+—-1--'?9 ﬁ,ﬂ[1+;J=__. - P
X
A B
(A 75 B) 7 {c}f_g i I';'F
() 9 (D) 10 (<) )
07 i '
3 007 fm 73 0.07 is equal to 5
AT (A) 70% (B) 7%
(A) 70% (B) 7% (C) 0,79 () 0.07%
(C) 0.7% (D} 0.07% '
™ A merchant offers 5 discount of 20% on all
74 Wmmmﬂ’mﬁﬂ“%m 'dleitmum}iﬁa-hnpandsljllmlk:spmfil
qzim:ﬁIMHﬂmmt.fHDmﬁﬁr of 12%. What is the cost price of an article
T W T W ow g marked at ¥ 2807
{(A) ¥ 200 By T 214 (A) T 200 (B) T 214
(C) ¥ 220 Dy T 224 (C) ¥ 220 (D) T 224
75 |Wﬁﬁﬂmm?4hﬁmt Ll s 100 persons had food provisions for 24 days,
u&:ﬂwﬂnwmﬁuﬁmtﬁﬂﬂ lrlﬂmﬁnm]:ﬁﬂmphce.ﬂmpmvisinns
ﬂ‘mmwﬂq‘rmm?:? will last for -
(A) 30 fis (B) 40 &= (A) 30 days (B) 40 days
96 96
() T fam (D) 120 fem (<) 3 days (D) 120 days
76 The simplification of
76 81+ 081+ JO008] F AT '
- VE1+ Y081+ JOO0RT is -
(A} 999 iB) 90.9 {A) 99.9 (B} 90,0
(C) 9.99 (D) 909 | (C) 9.99 (D} 9.09
MN-2207 29



T

4 16
W~ B} Teo
{C) -9 (D) 9

78 miﬁﬁqimﬁmmim,ﬂgqi
el % s w1 oo ¥ -
(A} 1:3:4 (B) 3:2:1
(Cy 1:2:3 (D) 3:1:2
] Hsﬂnﬂuﬂmmmi‘m-
(A) 345 = 109 (B) 34.5 = 108
(C) 3.45 = 107 (D) 3.45 = 107
80 mmmqﬁwaﬁﬁtmﬂ
i‘mt.mmi‘mi‘ml—
(A) 120¢ (By 160°
(C) 902 (D) 60°
g1 300 fwm P ® 55% T, 3394, difz T I
o faf ® | for @ F AT A -
(A) 440 fem (B) 264 T
(C) 196 TEm (D) 96 Tm
81 ﬂﬁqﬁmﬁnmﬂ:ﬁﬂﬂ'mﬁ'ﬁ{ﬂ
luhﬁtﬁrlﬁﬂﬂmnﬁﬂﬂm
zr wa @ g Ee -
(A) 2504 At (B) W% e
() 1000 He (D) 5“‘%1:-5:
&3 (200%) x (2008) — (1995) ~ (1995) =7
{A) 40000 (B A
(C) 40225 (D) 4025
MMN-2201

77

81

K1

— O

A~ B)
(A ~ 3 (B)

{C) -9

—

160
(9

The ratio of the volumes of a cvlinder.
4 cone and a hemisphere of same radii and
same height is -
(A) 134
(0 123

(B) 3:2:1
Dy 3:1:2

The starkard form of 4500000 i —
(A) 3.45 = 0% (B) 34.5 = 108
(C) 345 = 107 (D) 345 = 0¥

{me of the diagonals of 8 rhombus is equal
o its side. Iis larger angle is -

(A) 120° (B} 160°

() 900 (D) 6i°

800 kg of mixture consists of 55% sand,
139 cement and rest lime. Whal is the mass
of lime in the mixure?

(A) 440 kg (B) 264 kg

(C) 196 kg (D) 96 kg

If the distance travelled by a cyele in one
hour is 10 km, the distance covered by same
eycle with the same spepd in one muinute
will be —

(A) 15% metres  (B) 5“’% metres

(Cy 1000 metres () i{% meires

(2005) * (2005) — (1995) * (1995) =72
(A) 40000 (B) 4000
(C) 40225 (D) 3025



B4 o 2w w1 e i g 8 a b ome 84
f‘ﬂfmmﬂﬂﬁ.ﬁﬁﬁmﬂ'ﬂkﬁ
H dm oy & |ﬂ#mmma’r1ﬂﬂrfﬁ1
ﬁ#ﬂﬂmﬂfm#ﬁmﬂﬂmwﬁ
i vl S wEe e
(A) 24 (B) 20
(C) 22 (D) 12

85 mﬂ#rﬂir.ﬂﬂnﬂﬂﬁrqﬂlﬂmmﬂ 85
mﬁﬁwmmﬂmhmﬂrgﬂn

(A) & 5 (B) B &
(C) 12 oy (D) 24 A

86 #Mﬂmmﬂmmmﬂ:ﬂm 6
mImHilmﬂiﬁmEﬁEEﬁﬁ.ﬁTﬂﬁ?ﬂ
mﬁlmmﬂlaﬂfﬁrmﬁm—hmhﬂ
S
(A) ¥awm 7 (B) #=m 11
(C) ¥ |3 (D) F=3 1000

87 fimw o R LAOB wrmy §my - ail

(A) 380 (B} 72¢
(C) 108¢ (D) 1262

(A} 6 (B) %
(Cy 21 (D) 27
59 Mﬁmﬁ'?mﬂﬂ‘tmﬂﬂtl L
TH WEwEs ¥ S o s
{A) 15 (B) 10
() 7 (D) &
90 lﬂrmmﬁm#ﬂaﬁmﬁm o0
g w ¢
(A) 20 (B) 25
{C) 30 (D) 35
MN-2201 31

A solid cube of 8 em side each, has been
painted red, blue and black on pairs of
opposite faces. It is then cot into cubical
blocks of cach side 2 em. How many cubes
have only two faces painted 7

(A} 24 (B) 20

(cy 22 {D) 12

A metal sheet 27 cm tong, 8 cm broad and
I em thick iz melted into g cube. The side
of the cube is5 -

{(A) 6 ¢cm (B) 8 cm

fC) 12 ¢m (D) 24 cm

A six digits number is formed by repeating
a three digits number. For example 256256,
678678 ctc. Any number of this form is
divisible by -

(A) 7 only (B) 11 only

(C) 13 only (L¥) 1001 only

In the given figure, ZAOBR equals -

B
Ix ir
Fi ¥ 5
— s
A 0 c
{A) 360 (B) 720
(C) 108® (D) 126
If the side of a cube i increased o three
times, its volume will __ tumes be,
(A) 6 (B) 9
() 21 Dy 27

A polyhedron has 7 faces and 10 vertices,
How meany edges does the polvhedron have?

(A) 15 (B 10

{C) 7 (D) 8

How many prime numbers are there berween
| w 100 7

{A) 20 (B) 25

(C) 30 (D) 35
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